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Law of Sines (p. 262) §3 ( p/u v
If ABC is a triangle with y y 4
sides a, b, and ¢, then
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Use the Law of Sines to solve (if possible) the triangle. If two solutions exist, find bath, Round your answers to two decimal places. (If not
possible, enter IMPOSSIBLE.)
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Law of Sines is great for AAS, ASA, which uniquely determine the triangle.

In the case of ASS, it might work, but it might give you two solutions or have no solutions.
It depends gn the information given.

ASIS., case is the only one that requires any hard-core analysis.
Basically it comes down to whether S, is long enough (one or

possibly 2 solutions), super-long (a unique solution), or not long
enough (no solution).
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Writing Project #2:

+ 0/3 points

"Bonus" questions are questions that count.

There are 105 points available. I'm grading on 100 points, so you can get 105%!!!

Use the Law of Sines to solve the triangle. Round your answers to two decimal places.
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c Low o.r Cosines
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Use the Law of Cosines to solve the triangle. Round your answers to two decimal places.
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Use the Law of Sines to solve (If possible) the triangle. If two solutions exist, find both. Round your answers to two decimal
places. (If a triangle Is not possible, enter IMPOSSIBLE in each corresponding answer blank. )
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